Financial Management 2

Cost of capital Problem

At the end of 199x Caribbean yachting products had $ 100 million total net assets. Management desires to increase its production machinery during 199x by $20 million in order to provide for new product lines. Bond financing will be at an 8% rate and will sell at par. Preferred stock will e sold at a par value of $ 100 and will have a 10% dividend payment. Common stock, which currently is selling for $50 a share, can be sold to net the company $45 after flotation costs, Internal funding available from retained earnings is estimated to be $ million 

Caribbean estimates that its. Stockholders require a 20% rate of return on capital. 

The marginal corporate income tax rate is 40%

Caribbean’s present capital structure listed below is considered optimal.

Debt  


$25million

Preferred Stock 
$25 millions

Common Equity 

    Common Stock
$30 million

Retained Earnings       $20 million

TOLTAL 



Questions.

1. In order to maintain the present capital structure, how much of the new capital must be financed by equity (common & retained earnings.

2. How much of the equity financing must come from the sale of new common stock?

3. What is Caribbean’s weighted average cost  capital?

